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Question Shuffling Allowed : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
> ®° '

Random Sampli.ng
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622113823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.
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It puts lesser emphasis upon doctrines.
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It seeks to answer broader and numerous questions.
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It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?
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Options:

It is associated with Auguste Comte
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It denies metaphysical speculation
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It emphasises on objectivity
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It is a method used in qualitative research
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cesticon Label ;- Multiple Choice Question

In the cubital fossa, the median cubital vein is frequently used for venepuncture. This
vein is separated from underlying neurovascular structures by the:

Options:
R anconeus muscle

-  investing fascia of the brachialis muscle

= % bicipital aponeurosis

4 w tendon of the biceps brachialis muscle

Question Number : 42 Question Id : 7622113842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Which of these structures passes deep to the flexor retinaculum at the wrist joint ?

Options:



| % ulnar artery

o % median nerve

5 w radial artery

. palmar branch of the ulnar nerve
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Question

If the dorsal rootlets of T4 are cut (dorsal rhizotomy) there will be a loss of sensation at
the level of the :

Options:

1 % neck

5 ® clavicle

= « hipple

4 % umbilicus
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Question

The nerve most likely to be injured in fractures of the medial epicondyle is the :
Options:

1 % radial

5 o Ulnar
- % axillary

4 % median
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Loss of pronation of the hand suggests a lesion of the :
Options:



| « median nerve
> w radial nerve

= # ulnar nerve

4 % intercostobrachial nerve
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Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Which artery accompanies the radial nerve to supply the posterior compartment of the
arm ?

Options:

, = axillary

- w brachial
z ® ulnar

4 + Profunda brachii
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The artery that may be palpated deep in the "anatomical snuff box" is the :

Options:
1 « radial

-~ % superficial ulnar
5 % posterior interosseous

4, % cephalic
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following muscles does not extend the wrist ?

Options:
| % exlensor carpi radialis longus



- % €xtensor carpi radialis brevis

2 ® extensor carpi ulnaris

4 + brachioradialis
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Loss of opposition of the thumb is a symptom associated with lesion of which nerve ?
Options:
| % radial

- w ulnar

= « median

4 % musculocutaneous
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which carpal bone articulates with the radius ?

Options:
, % lrapezoid

5 % hamate
- % Ccapitate

4 « Scaphoid

Question Number : 51 Question Id : 7622113851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which muscle is innervated by both the ulnar and median nerves ?

Options:
; = flexor digitorum superficialis

- % Ppronator quadratus



= flexor digitorum profundus

4 % SU pinator
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following cardiac veins empties directly into the right atrium of the heart ?

Options:
| % middle cardiac

-  anterior cardiac
- % Ssmall cardiac

, % great cardiac
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

All of the following are true statements about the azygos system of veins except
that :

Options:

, % itcommunicates with the common iliac vein

- w it frequently receives the left pulmonary vein

3 it empties into the superior vena cava

4 w itdrains the thoracic wall
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The heart is located in which anatomical subdivision of the mediastinum ?

Options:
, w anterior

o middle



2 ® posterior

4 % lateral
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The aortic arch is located in which subdivision of the mediastinum ?

Options:
1 superror

> % middle
2 % posterior

, % anterior
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The vagus nerve accompanies which of the following through the diaphragm ?

Options:

| % sympathetic chain

. w inferior vena cava

5 w aorta

e
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Correct Marks: 3 Wrong Marks: 1

ouestion Label : Multiple Choice Question

When considering the structures that make up the thoracic wall, which of the following is
most superficial ?

Options:

, w internal intercostal muscle



- « exlernal intercostal muscles

3 ® parietal pleura

4 % intercostal vessels and nerve
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The thoracic duct usually drains into the :

Options:
,  leftinternal jugular vein

5  left subclavian vein

- % junction of the left internal jugular and subclavian veins

4 % SUpEror vena
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The sinuatrial node is located in the :

Options:
1 « right atrial wall

5 % left atrial wall
- » right ventricular wall

4 % interventricular septum
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which vein accompanies the posterior interventricular coronary artery ?

Options:
, = great cardiac

> % Small cardiac



=  Mmiddle cardiac

4 % coronary sinus
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The type of joint between tooth and gum is :

Options:
1 % Syndesmosis

5  Gomphosis

= % Primary cartilaginous

4 % Sutural
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Tonsillitis pain is referred to ear as both are supplied by the nerve :

Options:
1 % Auricular branch of vagus

5 of Glossopharyngeal
= % Accessory

4 % Facial
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Cricothyroid muscle is supplied by the nerve :
Options:

= Internal laryngeal

- « External laryngeal

= % Recurrent laryngeal



4 w Pharyngeal branch of vagus

Question Number : 64 Question Id : 7622113864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The thyroid cartilage is made up of :

Options:
1 « Hyaline cartilage

- % Elastic cartilage

- w Fibro cartilage

4 % Fibro elastic tissue
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The safety muscle of larynx is :

Options:
1 = Lateral cricoarytenoid

> % Thyroarytenoid
= % Thyroepiglotticus

4 « Posterior cricoarytenoid
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Enamel of the teeth develops from :
Options:

1 « Ectoderm

5 % Endoderm

= % Mesoderm

4 % Ectoderm and mesoderm



Question Number : 67 Question Id : 7622113867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The inner surface of the tympanic membrane is supplied by the nerve :

Options:
1 % Auricular branch of vagus

> % Auriculo-temporal
=  Tympanic branch of glossopharyngeal

4 % Facial
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Giant cells of Betz are found in :

Options:
| « Area4 of cerebral hemisphere

> % Area 3 of cerebral hemisphere
- % Area 2 of cerebral hemisphere

4 w Area 1 of cerebral hemisphere
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is operculated sulcus ?
Options:

1 % Lateral sulcus

- % Central sulcus

z # Collateral sulcus

4  Lunate sulcus



Question Number : 70 Question Id : 7622113870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In spinal cord, myelin sheath is formed by :
Options:
1 % Schwann cells

5 Oligodendrocytes
2 ® Astrocytes

4 % Microglia
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The karyotype of Down syndrome is :

Options:
| % 45,X0

» w 41XXY
- ¢ 41, XY (21)

4 % 47,XX(18)
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Protrusion of tongue is prevented by lesion of
Options:

1 % Facial nerve
5 « Xl nerve

2 % Pharyngeal plexus

4 % Recurrent laryngeal nerve
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The striate cortex is located in which lobe of cerebral hemisphere :

Options:
1 ® Frontal

5 R Temporal
z ® Parietal

4 + Occipital
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Inferior meatus of nose has following openings :

Options:
| % Maxillary air sinus

5 % Frontal air sinus
2 % Anterior ethmoidal air sinus

4 + Naso lacrimal duct
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Stapedius muscle is derived from mesoderm of which branchial arch ?
Options:

-  1Ind
- % HIrd

, = IVth
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



Ophthalmic division of trigeminal nerve leaves the skull through the :

Options:
1 w Inferior orbital fissure

- « Superior orbital fissure

= % Foramen ovale

q B Foramen rotundum
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Tonsil develops from the following pharyngeal pouch :

Options:
% Dorsal wing of 2nd

> « ventral wing of 2nd
= % Dorsal wing of 3rd

4 % Ventral wing of 3rd
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Cridu chat syndrome is due to deletion of :

Options:
|« Short arm of chromosome 5

> % Long arm of chromosome 5
5 % Short arm of chromosome 9

4 % Long arm of chromosome 9
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Medial medullary syndrome occurs due to lesion of :
Options:



|« Anterior spinal artery

> w Posterior spinal artery
= % Superior cerebellar artery

4 % Postero inferior cerebellar artery

Question Number : 80 Question Id : 7622113880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The karyotype of Turner syndrome is :

Options:
| » 45.X0

o % 41XXY
2 % 47,XY (21)

4 % 47, XX (18)
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the muscles help in extension of hip ?

Options:
1% Pectineus

> w Adductor longus
= ® Gracilis

4 + Adductor magnus
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Safe quadrant of the gluteal region for intramuscular injection is :

Options:
, % Upper and inner



- « Upper and outer

= % Lower and inner

4 » Lower and outer

Question Number : 83 Question Id : 7622113883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following is not a branch of common peroneal nerve ?

Options:
| « Sural nerve

5 ® Lateral sural nerve
= % Sural communicating nerve

4 % Lateral inferior genicular nerve

Question Number : 84 Question Id : 7622113884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Nerve likely to be injured in posterior dislocation of hip joint is :
Options:
1 ® Superior gluteal

> % Inferior gluteal

o o Scialic

4 % Pudendal

Question Number : 85 Question Id : 7622113885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Skin on medial side of great toe is supplied by :

Options:
1 % SEl[JhEIlGLIS nerve

- « Superficial peroneal nerve



2 % Sural nerve

4 % Deep peroneal nerve

Question Number : 86 Question Id : 7622113886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Injury of the tibial nerve can cause loss of :

Options:
| = Inversion of the foot

> % Eversion of the foot
=  Plantar flexion of the foot

4 % Dorsiflexion of the foot
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

All are the muscles of third layer of sole except :

Options:
, % Flexor hallucis brevis

- % Adductor hallucis
= « Abductor hallucis

4 % Flexor digiti minimi brevis
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The most important factor for maintaining the arches of foot is :

Options:
, % Shapes of the bones

- « Ligaments and plantar aponeurosis

- % Tendons and muscles



4 % Inter tarsal joints
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The median relations of pelvic surface of the sacrum include all except :
Options:
1 % Median sacral vessels

> % Sympathetic trunks
-  Middle rectal artery

4 % Rectum

Question Number : 90 Question Id : 7622113890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

All are contents of rectus sheath except :

Options:
| % Superior epigastric artery

- % Rectus abdominis

R4 Superficial epigastric artery

4 % Inferior epigastric artery
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Cremastric reflex tests the integrity of spinal segments :

Options:
, = Tlland T12

> o Lland L2

- % L3and 14

, # SlandS2
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The innermost covering of testis is formed by :

Options:
1 = Parietal layer of tunica vaginalis

> % Visceral layer of tunica vaginalis
=  lunica vasculosa

4 % Tunica albuginea
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

All of the following structures form stomach bed except :

Options:
, = Body of pancreas

5 % Splenic artery

=  Right crus and dome of diaphragm

4 % Transverse mesocolon
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Factors keeping liver in position include all except :
Options:
1 % Hepatic veins

- % Intra abdominal pressure

- % Ligaments of liver

4 + Hepatic pedicle



Question Number : 95 Question Id : 7622113895 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

All the statement about the neck of pancreas are correct except :

Options:
1 % lts anterior surface is related to pylorus

> % The portal vein is formed behind it
5 w Itlies behind the lesser sac

4 It presents an upward projection called tuber omentale

Question Number : 96 Question Id : 7622113896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The caecum is supplied by :

Options:
1 « lleocolic artery

5 % Middle colic artery
- w Left colic artery

4  Right colic artery

Question Number : 97 Question Id : 7622113897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In renal colic the pain is referred from the loin to groin mainly through spinal segments :
Options:

1 % T9-TIO

> % TI10-TI

2 « TI-L2

4 % T12-L3

Question Number : 98 Question Id : 7622113898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All the following veins are tributaries of the inferior vena cava except :

Options:
, % Right supra renal

- « Left supra renal
= % Right renal

4 w Leftrenal

Question Number : 99 Question Id : 7622113899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following joint is of synovial variety ?

Options:
; % Lumbosacral joint

- « Sacroiliac joint

5 % Pubic symphysis

4 % Sacrococcygeal joint

Question Number : 100 Question Id : 7622113900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

All are the constituents of pelvic diaphragm except :
Options:

; = Levator ani

> « Obturator internus

- % Coccygeus

4 % Pelvic fascia



